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\usepackage{tikz}

\newcommand\longangle [1]{%

\tikz[baseline,line cap=round,line join=round]{

\node [inner sep=0pt,anchor=base] (X) {$#1$};

\path (X.south west)+(-0.7em,-1pt) coordinate (dd);

\draw (X.north west)+(-1pt,0)--(dd)--(dd-|X.south east);}}
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\newcommand\longangle [1] {\mathchoice
{\angletmp{\displaystyle#1}}{\angletmp{\textstyle#1}}
{\angletmp{\scriptstyle#1}}{\angletmp{\scriptscriptstyle#1}}}
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\usepackage{tikz}

\usetikzlibrary{calc}

\newcommand\longangle [1]{\mathchoice
{\angletmp{\displaystyle#1}}{\angletmp{\textstyle#1}}
{\angletmp{\scriptstyle#1}}{\angletmp{\scriptscriptstyle#1}}}
\newlength\anglesep

\newcommand\angletmp [1]{%

\anglesep=0.25ex

\tikz[baseline,line cap=round,line join=round]{

\node [inner sep=0pt,anchor=base] (X) {$#1$};

\path let \p1=($(X.north)-(X.south)$) in

(X.south west)+({-0.75*%(\yl+\anglesep)-\anglesepl},-\anglesep)
coordinate (dd);

\draw[line width=0.1lex]

(X.north west)+(-\anglesep,0)--(dd)--(dd-|X.south east);
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